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1| Zakladni informace k zadani zkousky

Cvicny poslech obsahuje 26 uloh.

Casovy limit pro Feseni cviéného poslechu
je 45 minut.

Povolené pomticky: pouze psaci potieby.

U kazdé ¢asti je uvedena vaha ¢asti/ulohy
v bodech, napft.:

5 points/1 point = v celé ¢asti mlzete
ziskat nejvyse 5 bod(, za jednu spravnou
odpovéd ziskate 1 bod.

U vSech uloh je praveé jedna odpovéd’
spravna.

Za nespravnou nebo neuvedenou odpovéd'
se body neodecitaji.

Odpovédi piSte do zdznamového archu.

Poznamky si mlzete délat do testového
sesitu, nebudou vsak predmétem
hodnoceni.

Nejednoznacny nebo necitelny zapis
odpovédi bude povazovan za chybné
feseni.

@ Pravidla spravného zapisu odpovédi

Odpovédi zaznamenavejte modrou nebo
cernou propisovaci tuzkou, ktera pise
dostatecné silné a nepferusované.

Hodnoceny budou pouze odpovédi
uvedené v zaznamovém archu.

Odpovéd, kterou povazujete za spravnou,
zfetelné zakfizkujte v pFislusném bilém poli
zaznamového archu, a to pfesné z rohu do
rohu dle obrazku.

A B C D

Pokud budete chtit nasledné zvolit jinou
odpovéd, zabarvéte peclivé plvodné
zaktizkované pole a zvolenou odpovéd
vyznacte kfizkem do nového pole.

A B C D
: H
Jakykoli jiny zplsob zaznamu odpovédi

a jejich oprav bude povaZovan za
nespravnou odpovéd.

Pokud zakfizkujete vice neZ jedno pole,
bude vase odpovéd povazovéana za
nespravnou.

Testovy sesit neotvirejte, pockejte na pokyn!

Test i prislusny kli¢ spravnych feSeni jsou do okamziku uvolnéni testu k volnému uziti, tj. do 26. dubna 2011,
uréeny vyhradné stiednim skoldm, a to pro Ucely zkusebniho testovani jejich Zakt ve $kole. Jakékoli zverejnéni
¢i uziti obsahu tohoto testu ¢&i prislusného klice spravnych feseni, jakoz i kterékoli jejich ¢asti v rozporu s timto
uréenim, bude povazovano za poruseni zakona ¢. 121/2000 Sb. v platném znéni (autorsky zakon).



POSLECH

PART ONE QUESTIONS 1-5 5 points/1 point

You will hear five short recordings. You will first hear the question, followed by the recording.
For questions 1-5, choose the best answer A-D.

1 What did Reggie Damone do with the cheque?

A) He cashed the cheque in a bank.

B) He paid his bills with the cheque.

C) He gave the cheque to his mother.
D) He returned the cheque to the bank.

2 Why does Mary not want to go to Philip’s party?

Because:

A) she’s too busy.

B) Philip likes her.

C) she likes Philip.

D) John would be angry with her.

3 Why was the teenager arrested?

A) He had drugs on him.
B) He had stolen a DVD.
C) He had left the store without paying.
D) He had stolen a jacket from a friend.

4 How does the woman feel?
A) angry
B) amused
C) shocked
D) surprised

5 Why has the man phoned?

A) to ask for details about the hotel

B) to ensure that the hotel is running

C) to cancel his reservation in the hotel
D) to change his reservation in the hotel
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PART TWO QUESTIONS 6-15 10 points/1 point

You will hear a politician giving a campaign speech. For questions 6—15, decide which of the
statements are true (T) and which are false (F).

T F
6  Thelocation of the speech was changed. ][]
7  More people are voting today than ever before. HEE

8 The politician admits that his inexperience can be his disadvantage. |:| |:|
9 The politician says that previous governors ignored public opinion. |:| |:|

10 If elected, the politician will regularly meet with the public in person. |:| |:|

11  The politician favours lowering taxes. (][]
12 According to the politician, schools are using outdated textbooks. |:| |:|
13 The politician is against longer school years. |:| |:|
14 The politician wants to introduce a ban on downloading data from |:| |:|

the Internet.

15 The politician suggests that money from advertisements can help |:| |:|
fund computer training for children.
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PART THREE QUESTIONS 16-21 6 points/1 point

You will hear part of a job interview. For questions 16—-21, choose the best answer A—C.

16

17

18

19

20

21

Why did Mrs Williams move to Vienna?

Because:

A) she missed her family.
B) of her parent’'s marriage.
C) her father was homesick.

What does Mrs Williams say about learning German?

She learned it:

A) inalanguage school.

B) during her stay in Vienna.

C) in Canada with the help of her father.

How long did Mrs Williams plan to stay in England when she went there?
A) ayear

B) 5years

C) asummer

What was the main reason why Mrs Williams returned to Canada?

A) She found a job there.
B) She missed her family.
C) Her husband found a job there.

What does Mrs Williams say about travelling abroad in the future?

She would like to:
A) visit Peru.

B) visit China.
C) live abroad.

What kind of teacher does the manager need for his school?

A teacher who:

A) speaks different languages.

B) has experience with teaching.
C) understands different cultures.
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PART FOUR QUESTIONS 22-26 5 points/1 point

You will hear five different people talking about concerts. For questions 22—26, choose from
the list A—G what each speaker says. There are two extra alternatives you will not use.

22 Speaker One
23 Speaker Two
24 Speaker Three
25 Speaker Four

26 Speaker Five

A) A good concert needs to be loud.

B) Concerts allow you to hear familiar music performed in new ways.

C) Itis usually a disappointment to hear a singer at a concert.

D) Large concerts emphasise the show more than the music.

E) The audience at concerts is too disturbing.

F)  Where you live influences which concerts you can see.

G) The tickets for concerts are overpriced.

ZKONTROLUJTE, ZDA JSTE DO ZAZNAMOVEHO ARCHU UVEDL/A VSECHNY ODPOVEDI.
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